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INSTRUCTIONS TO CANDIDATES:

Mobile phones are NOT ALLOWED in the examination room.

. USE A SOFT HB PENCIL THROUGHOUT THIS EXAMINATION.
2. DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO.

Before the Examination begins:

3. Check that this question booklet is headed
4. Insert the information required in the spaces above.
5. Withcut opening the booklet, pull out the answer sheet carefully from inside the front cover of this booklet. Take care that you
do not crease or fold the answer sheet or make any marks on it other than those asked for in these instructions.

6. Insert the information required in the spaces provided on the answer sheet using your HB pencil: :

Candidate Name, Centre Number, Candidate Number, Subject Code Number, and Paper number

“Ordinary level -0570 code and subject title—MATHEMATICS -Paper 1”.

How to answer questions in this examination:

7. Answer ALL the 50 questions in this examination. All questions carry equal marks.

8, Non-programmable calculators are allowed.

9. For each question there are four suggested answers, A, B, C and D.
question on the Answer Sheet and draw a horizontal line across the letter to join the square b
chosen. For example, if C is your correct answer, mark C as shown below:

[A] (B8] [g] (D]
10. .Mark only one answer for each question. If you mark more than one answer,
change your mind about an answer, erase the first mark carefully, and then mark your new answer.
11. Avoid spending much time on any question. If you find a question difficult, move to the next . You can come back to the
question later.
12. Do all rough work in this booklet using, where necessary, the blank spaces in the quest ion booklet.
13. You must not take this booklet and answer sheet out of the examination room. All question booklets and answer sheets

will be collected at the end of the examination

Decide which answer is correct. Find the number of the
rackets for the answer you have

you will score zero for that question. If you
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7. A binary number amongst the numbers below is:
1. 0.001% of 438 is:

A. 0.00438 A. 212
B. 0.0438 B. 21
C. 0.000438 C. 1011
D. 438 : D 22

2. Factorizing 10a + 6a® gives: 8. The shaded portion in the Venn diagram below
Al 2a%(5 + 3a) represents:

B. 2a(5 + 3a) o “~Q
C. a(10 + 6a?)

D. 2a%(3 + 5a)

3. The table below shows the number of students in Bigure 1.
four different schools in Cameroon. The school A P'UQ
with the highest number of students is: 5
Schools No of students B. PnQ!
K 1.57 x 105 &
L 42 % 10° S 0N
M 148 x 10° D. (PNnQ)’
4
3 35x 10 9. If p is the statement: “Douala is in Cameroon”,
then ~p is the statement:
AL K e
A. No, Douala is in Cameroon
B. M ;
: B. Douala is the economic capital of
.. L : Camecroon
D. N it Nigeria is not in Cameroon
4. 0.013 x 4 expressed in standard form gives: D. Douala is not in Cameroon.
A. 5.2%x 107 10. In the truth table beio“'r, the missing value is:
B. 52%107% p e
F 2h
-3
C. 52x10 T
D. 525 10%
AT
5. At town A, the temperature is —~10°C and at town
B, the temperature is 30°C. The increase in B. P . .
temperature between the towns is: o Ep
A. 40°C : D. F
2 .
B. 20°C 11. From the Venn diagram below, M n L! is:
C. —40°C e
D. -20°C " 5
6. The approximate value of 239:—;?—9%-03 to 1 decimal e d
place is: figure 2.
A. 989.3 A (b, )
B. 98.9 B (9}
2 99.0 C. {a,c)
D. 9.9 D {e,d)
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12. Given that f(x) =2x+6, then the value of x
When f(x) = 4x is:

A. 3
B. 2
C. 1
D. 6
13. The functions f(x) =x+1 and g(x) = x2, then
fg(x) =
A. x:~-x=1
B. xX+x+1
(6 (x+1)?
D. x2+1

14. In the Pappy graph below, t is equal to:

Figure 3.
A 3
B. 4
€. 3
B 6
15. A pdiygon with exactly five axis of symmetry must
bea:
A. Hexagon
B. Quadrilateral
C. Regular pentagon
D. Regular heptagon

16. An isosceles triangle is a triangle with

A. aright-angle

B. two equal sides

£, no two angles equal
D. all sides equal

17. The number of sides of a quadrilateral is:

A, 4
B. 5
C. 6
D. 7
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18. Simplifying ’2’—25’5 gives:

A 43
g o
B y-3
: 2
C =3

y+2
D y=3
; =

19. The shape of the base of a cylinder is:
A,

cone
B. Square
C. Triangle
D. Circle

20. A pair of complementary. angles in the following
pair of angles is:

A. . 120°and 60°
60° and 30°
80° and 100°

B
C.
D 40° and 140°

21,

545

Figure 4.
The value of angle y above is:
A. 54

67°
57°
131"

U

g o

22. V75 simplifies to

A, 15
B. 3V5
£ 5V3
D. 15

23. The plan of a house is drawn to scale where 2cm on
the plan represents Im on land. A wall on the plan
is 6cm long. The actual length of the wall is:

A, 6m

o
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24. The y —intercept of a line is —6 and gradieat Is -2,

The equation of this line is:
A y=2x+6
B. y==2x+6
C. y=2x-6
D. y==2x-6

e L | TR

25, The coordinates of the midpoint of the line segment

joining the points (4, 0) and (0, =-6) are:
A. (-2.3)
B. (2,—3)
C. (46)
D. (-3,2)

26. The distance between the points (5,1) and
2,—3) is: Xy
% -
A.

25 units
B. 7units
C. 5 units
D. 4 units

30, The valie of x which safisfles the A
]

simultaneous equations below
Ixtyw landx =2y 5
A2

B. -2
G 1
D, ~1 S

Is:

31, The number of ares af a network dingram wigy s

nodes and 4 regions |s:
A8
B. 7
G 6
o FR

27.If the lines y=5x+2 and mx+y=8 are

parallel, then the value of m is:

N

B. B
C. Gk
5

i

B Ot

32. Solving 3a? = 27 in the set of natural numbers N

gives:

A 3
B %
G 9
D %9

33. An ogiveis:

A. afrequency distribution
B. the semi-interquartile range
C. acumulative frequency curve

D. another word for dispersi

28. Given that %a — b = ¢, then « in terms of b and ¢

is:
A.
B. —

1
C. a-;bc

D. a=2(b+c)

value of d for which f(3) = 0 is:
A, 1

0

2

o 0w

29. The values of x for which (x — 3)(2x + 1) = 0 are:

A wdad

B., 3; —2

35, The value of x which satisfies the equation

1
2% = L e
il

A. 6

R e
L

-------- Ef
o e

@TRIRPIOSTO P IIMOCK 205;‘

---------- 4
A A A s e e A AR A T WA L s



16. The transpose of the matrix G O)
‘ & (jz —{-]3)
B. (jz :)3)

14

B. (js (21

37. The inequality represented on the number line
above is: e ks - .
7 3
A. —2<5x<3
B. -2<x<3
C. —2<€x<3
D

. —2<x<3

38. Given that sinf = g then8 =
A. 45°

600

90°

30°

39. \

i W
- ™~

Figure 5. 8.

0w

C

The value of h in the figure 5 is:

a1. Given the origin (0,0) with the poime x —=—
the Cartesian plane with position VEfl(:-sagd B on
OB, the vecior AB can be expresseq g5 A and

A. A0-0B
B. 0B-04
C. A0+0B
D. —-04A-0B
42, Y =

T

In the.-\.'ector diagram above, 04 = a, OB = 2b and
X is a point on AB such that AX: AB = 1; 2, then the
vector 0X is:

A. 3(10a—b)
B i(a+2b)

.:C- g(a +b)

- D. ;(4a—2b)
43. The point below which does NOT lie on the line
y= -1;(3 is:
A 1(6,2)
1
B. (.29
IR R
D. (3,~4)

A 30
: ST By {1 =2
B2 44, Given that P = (5 3) and Q= (3 ; ),
c. V6 IR
1 B8
D. 6 A. (2 = 4)
40. Given that y varies inversely as the square of x and B (20 38
y = 1 when x = —2, then equation connecting y to T4 11
X is:
: Y
' C. (g 10
= o (@ 8 )
x2 " 10
B y= -; -
g 45. M = “) M| =
'C Y= ;';f (-—-1 1)
Dy :
R
B. =5
5
_______ D> 7
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46. The remainder when x>+ 2x% 4+ x + 5is divided

49. The probability of an event occurring is 0.35. The

b A - wi * e
y X —1is: probability of the event NOT occurring is:
A. 7
A. 0.65
B. 9 ; B. ....'L.
i s 0.35
B & C. 035
D. 0

47. The mode of the distribution 26, 5, 41, 4, 34, 19, _ ;
20,26,9,11 is: 50. The coordinates of the image of the point (3, -1)

reflected in the line y = 2 is:

A 41
B. 4 A. (-1

C W B. 3,4

D. 26 C. (3,5

15, The range of the distribution 5.2 1,4,3.1,5 s B (0,1
A. 0 -

“B: 6

C. 4
D, 7

END
GO BACK AND CHECK YOUR WORK




